Write the letter for the correct answer in the blank at the right of each question.

1. Expregs 6 cups to 5 quarts as a fraction in simplest form. & 'f
B 2 c 2 p & ? Can
5 , 10 20 s:MP

2. Express the ratio 6 feet to 3 yards as a fraction in simplest form

3 2 1 ep- . Aa
G 2 H 2 ¥4 € P+ aa

3 y3%

l 7'}‘
3. Express 325 miles every 5 hours-as a unit rate. -
A 1625 mi/h @ C 55 mih D 65my’h 32LSmi =S .65
‘g

. : . . S h [ e
4. Which of the following has the same unit rate as 8 books’in 12 weeks? ] 5
2 books in 1 week et A : i 5_E:.is_-"2 0. b7
5 books in 7weeks = .~ (J 3 books in 4.5 weeks 12w 2 =1
3 o | -t,'“s 06
5. Ms Epps can run 15 laps in 22 minutes. How many laps can she run in 10 minutes? ) X
IS laps
A 6 laps B 7 laps C 7 laps To nin 16
6, Which of the following shows the correct metric approximation for 7 feet? | S‘b & X

(F 2.1 meters ) G 4.

(Hint: 1 meter = 3.28 feet)

_H 21.3 meters J 23 meters S

328X = F x=6.2
e =3 2 2z® X =213

7. An athlete runs 5 miles in 1— hours. If the distance covered is proportional to

- ,_’ . the time spent running, wh.lch of the foliowmg is not an equiv al?{l’c rate? T . l_{.“‘_“l

i - ox 4 _— =

oW | nr X3 miles in = hour C 7 milesin 1—; hours f—f’— = i;.w.l /| Sk ['ne
' ' C gwys T/

e ® W(é 3 satea oL honr % 4 miles in 1 hour \ 4 /

.75 he

\ 4
\\_-—//_//
8. A map has a scale of 1 inch = 75 miles. How many inches on the map would
e %3
represent 300 miles? X

— lim™ _
F 2inches G 3 inches @ J 5inches 3612 300 mi
4!4’.'...

g
: O. 333 in = __)_('_,._ -
9. What value of x makesG2= L a proportion? 2 m. 3e° ™

»r
A 144 B 10 4%,% C 16 ot

10. A chili recipe calls for 6 pounds of ground beef for 25 servings. How many

pounds are needed for ervings? b te - _'x. "
F 5 G 7.2 H 8 J 15 AS Soar, DO 5er

; . IBO = 16X
11. At the grocery store, 3 cans of tuna fish are on sale for $1.08. Which equation = s
could be used to find the total cost ¢ if a customer wants to buy 7 cans of tuna?
Ac=7-108 Be=9%-086 (€ c=7:030 D c=7-324 T
Sien . $o.3

I G,

3
12. Audrey used a scale of 1 inch = 5 feet to construct a scale model of the school /”_\

gymnasium. A basketball hoop in the model has a height of 2 inches, What is lia <1 ?._..
the actual height of the basketball hoop? _ ¢4 T X
F 2.5 feet G 7 feet H 10 feet J 15 feet \,/"
13. Suppose a model of a commercial airplane is 11.5 inches long. The actual S in 1:|I-5" lin
length of the airplane is 230 feet long. What is the scale of the model? =

aze Pr
A1ft=20in. B 201n.=20ﬁ@ D 20in =230 f . *ME O0FF



